
Converting Fahrenheit and Celsius (H)

33 °F = °C -67 °C = °F -5 °C = °F

80 °C = °F -14 °C = °F 58 °F = °C

72 °C = °F -86 °F = °C 75 °C = °F

179 °F = °C -121 °F = °C 170 °F = °C

202 °F = °C -53 °C = °F -45 °C = °F

-76 °F = °C 181 °F = °C -80 °F = °C

85 °C = °F -19 °C = °F -73 °C = °F

94 °C = °F 67 °C = °F -76 °F = °C

-61 °C = °F 93 °C = °F 69 °C = °F

95 °F = °C -73 °F = °C -97 °C = °F

-122 °F = °C 68 °C = °F 96 °C = °F
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Converting Fahrenheit and Celsius (H) Answers

33 °F = 0.55 °C -67 °C = -88.6 °F -5 °C = 23 °F

80 °C = 176 °F -14 °C = 6.8 °F 58 °F = 14.44 °C

72 °C = 161.6 °F -86 °F = -65.55 °C 75 °C = 167 °F

179 °F = 81.66 °C -121 °F = -85 °C 170 °F = 76.66 °C

202 °F = 94.44 °C -53 °C = -63.4 °F -45 °C = -49 °F

-76 °F = -60 °C 181 °F = 82.77 °C -80 °F = -62.22 °C

85 °C = 185 °F -19 °C = -2.2 °F -73 °C = -99.4 °F

94 °C = 201.2 °F 67 °C = 152.6 °F -76 °F = -60 °C

-61 °C = -77.8 °F 93 °C = 199.4 °F 69 °C = 156.2 °F

95 °F = 35 °C -73 °F = -58.33 °C -97 °C = -142.6 °F

-122 °F = -85.55 °C 68 °C = 154.4 °F 96 °C = 204.8 °F
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